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RDENENDEBZERD K.
a) log, 32 =

1
log, — =

c) log, 4
e) logs5 =

) 1 1
O _=

g 23 3

ROED x AR &,

a) log,x =3

c) logsx =2

log, M =a, log, N =8 &EH<E M =a”,

DOR=FEHT L.
a) log,(M x N) =log, M + log, N

c) log, M" =nlog, M
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b) log,s5 =
d) log, 16 =
f) log,2 =

h) logg V2=

1
b) 1 =—
) log,x = —2

d) log,7x =3

N =af &FH3, COZEAFALTROBOBD

M
b) loga(ﬁ> = log, M — log, N
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p=log,2 q=log,3ETBEE, ROEA p, g THY.
a) logaSZ b) loga 18:

c) log, 12 = d) log, 1.5 =

RDERDAEHEL L.

3 3
a) log, 1 log, 3=

1 Vs
b) 3 log; 5 — logs 5 =
¢) logy(3 + v/3) + log,(3 — /3) =
d) 3logs 15 —logs 135 =

(6] ROBLOREBEBICE L.

1 3
a) 3 log, 125 + log; 3 log,(0.3 =

A B Cc
b) log, B + log, rol + log, 1=

log,3=m DEE, log, 6, log;2 % m TxL.

a) log, 6 =

b) log;2 =
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b) log, b -log,c-log.a =1

log, b =
a) log, log, @

(9] BB¥ y = log, x LDV TRDRICH TIFED x DEERDK. 1220, 205 = 1.414 =T 5.

AIBZFALT, BB y =log, x DT Z 7% T,
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4DDBM y =3, y=3"% y=logzx, y=—logyx DT> I7%BlF.
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232 (A DEKD. 12720, logp2 = 0.3010 & T 3.
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FERELOEEBTBE, HENEED % BIFIZ8HBNBH. 1120 logye3 = 04771 ET 5.
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